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Question Number : 1 Question Id : 7164471 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Pearl Harbor is a US naval base near Honolulu, Hawaii, that was the scene of a devastating surprise attack on

7 December 1941. Name the country that attacked Pearl Harbor.

0§ 35636 Db aarooned’ D ¥ Senentd Hannoes’ &) 28 AR (US) rdse .g"aj-:jo, @b 7 &oexd 1941 2
DTFBEODOR, IFN\CIEODR TES TPy Cod. DO FFODOD ¢ SR B30 DO

Options:
China

1 & &+7F



Japan
7 B

Israel

3 % @@“Dﬂ)ﬁ‘ﬁ

Russia

4:. % Gcﬂ“{]

Question Number : 2 Question Id : 7164472 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What was the rivalry between the US and the Soviet Union called that lasted for decades and resulted in anti-communist
suspicions and international incidents that led the two superpowers to the brink of nuclear disaster?

B0 QP06 0D €960 D) 908D IGE) DGO, &K}ﬁg ST fS0S 9T Sudoin @o@g@o:i)
P0DVLDVE) TPOBND 050D (US) sudotiv DPH0iis ordoid Q063§ FrErenTT EATHD 38080 (Gowd)
DDE?
Options:

The Space Race

1. = €3 2y B

The Mad Rush
2 ® &5 6:1]"’5& Cji'l

The Missile Crisis
7 €5 DUIND 3D

The Cold War
4 v & 8¢ ar6 {@ﬁaﬂ ongo)

Question Number : 3 Question Id : 7164473 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



What was the codename of the operation that was launched in 1984 to drive out the Sikh extremist religious leader
Jarnail Singh Bhindranwale and his armed followers from the premises of the Golden Temple in Amritsar?

e9a1)@ 6 D FGD Bosne Frorieso o DL, BT S TPODLHED 28) &S Do Dogrdard OO 8D
FrOK0E ASMOR BBNEYEIS 1984 &° FrEoDodd BNTOD aB0E), EE& Daw (o8 Trao) DDoe?

Options:
Operation Python

1. % 0TI PR

Operation Trident

0y TOTAS ProsS

Operation Parakram

2w e2000R PSS

Operation Blue Star

4 v €500 E° J°0

Question Number : 4 Question Id : 7164474 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What was the theme of the first “International Day of the Girl Child’ that was observed on 11 October 2012?
11 98226 2012 & D0GOI0 Fredodd trdsv @o@gﬂ@m} &5@3&30’ o308, DDEGo (&0) DDe?

Options:

1. %

Empowering Adolescent Girls: Ending the Cycle of Violence

Joaab0h eaTreRdod ﬁgh: Joc.of) & 23S 3D HONTVY (Far6 erdSo 3FH0s0 Botco: o DI

AFENDTE0)

GirlForce: Unscripted and Unstoppable

5 (36 *&3553: O RE ol &9 g‘?:}meﬁ

Ending Child Marriage
3 o Joc.of) DG B(0S {ajum?g Doy drenaTracio)



The Power of the Adolescent Girl: Vision for 2030
4 x ODBEDE 2 Sof5 (15: DD D6 2030

Question Number : 5 Question Id : 7164475 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

7th December is observed as

7 &oed S0 T ar@Ird.
Options:
International Migrants Day

1 = P_‘Jo@g“@cﬁj HedEde) &ﬁ@bm

International Mountain Day

7 P_‘Jo@g“@cﬁj DO &-5@:}630

International Day of Sign Languages

3« P_‘Jo@g“@cﬁj 2038 e BFBHo

International Civil Aviation Day

4 v P_‘Jo@g“@cﬁj PG DATEHOITS &ﬁ@ﬁo

Question Number : 6 Question |d : 7164476 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following began in 1845 when a fungus-like organism called Phyfophthora infestans spread rapidly
throughout Ireland?

1845 &° 2pe5To° QDYDY 9D DeVDRIE DO o) 2D DTOE IOBEP DIOTF TFDODDNND, 208 TOS I
rOoED0H?

Options:
The Dust Bowl

1' " &Ci.j:%lﬂ”ﬁ



The Irish Potato Famine

7. & 0BH Teres DD

Red Scare
3« oc ‘iaajﬁ

The Great Depression

4. = 08 &DH0

Question Number : 7 Question Id : 7164477 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
On 16 January 1991, President George HW Bush made an announcement about a military operation called

expel occupying Iraqi forces from Kuwait, which Iraq had invaded and annexed months earlier.
16 2325456 1991 &, £y Dow H00d HPE & m%}&oﬁ) S0B05D eIEDOND 3L QTS GV Dﬁgﬁ“&gmx}é
I EICD G L cig,_;)é EDa) &9 208 30 (DO0) 28 PSR IFW.

Options:
Operation Wrath of God

1. & YOO TS 8D TPE

Operation Desert Storm

3 e50BND G Qﬂé&

Operation Rolling Thunder

3 % ©DBA0 Boh Hocd

Operation Red Dawn
4. x 00D O& 0

Question Number : 8 Question Id : 7164478 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

o



Titanic had its own newspaper, which was printed every day and included news, stock prices and horseracing results, as
well as the day’s menu. What was the name of the newspaper?

DS £, PAFer PoBoDE BOID TPgew, 5 GO SBOT GNP HITen, werd Ferard ard £8H
G0l 2.8 VoS TTOAS SO cod. & TTOVBRE DO IDH?

Options:
The Atlantic Daily Bulletin

1 v O etrods 29 encdd

The Final Word
9y ORI DY

The Guided Light
3 x ODEE g8

My Two Cents
4 % FRVIARRRT.LN

Question Number : 9 Question Id : 7164479 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

During the Gandbhi and his lawvyers travelled to different villages, meeting farmers and taking note of their

sufferings and complaints against the forced indigo cultivation.
Todd S0BaiL 93D T§ORTEIED Pa0ooes DB TaAFODH DY, AV SLNRDDHI, LVDOSY Q0AH
(DBa0e) Frdp o6 ercien MBI LTV [EVDOT M.

Options:
Peasant's Revolt

1. % DSow Sceri

Bardoli Satyagraha

2 mgﬁ} ‘é}@ﬂﬁg‘&jﬂo

Champaran Satyagraha

3 v 0O SLlarells



The Non Cooperation Movement

2oty DTEECHE G a0
4 = 3

Question Number : 10 Question Id : 71644710 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which two Indian cities are among the 66 urban settlements designated as creative cities by the United Nations

Educational, Scientific and Cultural Organization (UNESCO)?
DEFOCRDDE DY, Fo0H s0BoIL 3“0“&)@@5 R0 (CIDREE DD HEDFENDS, 2oDS ol SVNGS PDFND:
030RY,) S8 yRTELE DTN DoDDESED 66 D FrOTP0S" Toch BN dToed ID?

Options:
Delhi and Chennai

1 = &8 20boin 3Dy

Mumbai and Hyderabad
7 D008 B0 TETETD

Pune and Kolkata
3 % P wdain Eeser

Banaras and Jaipur

4. » 80D aB0ID B0

Question Number : 11 Question Id : 71644711 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which cricketer became the first Indian to hit 400 international sixes?
400 €2087°B00 DEYD FOD FH 26BN DD ?

Options:
Rohit Sharma

1 v B aeda 30),



Virat Kohli
9 % DoeeS o

Shikhar Dhawan
3 % F0 TR

MS Dhoni
4. = Do B

Question Number : 12 Question Id : 71644712 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which Pakistani political figure was sentenced to death by the Pakistan court in December 2019 for high treason?

2019 Coebe” 3D Ed D P3PS Tradol TranHAS 9S B3EHRIS SPoEHoSTTR SIS DHodod?

Options:
Imran Khan

1. » ‘BEEREER

Pervez Musharraf

3 o DB SH0REOD

Nawaz Sharif

3. W% ST E_'lémsj

Bilawal Bhutto Zardari
4 % Derses e:j:r@& ae.g“fh

Question Number : 13 Question Id : 71644713 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which supersonic cruise missile was successfully test-fired from a base in Odisha’s Chandipur on 17 December 2019?

17 &20ead 2019 25 2.d77e5°D Solypd 65° 2.8 gvmo ool D ma%:)é Srond 206D DRohdotorT D6Lotr?

Options:



Akash

1. &= es=a

Trishul 8
? % aoe) 8

Barak 8
3 % eo§58

BrahMos
4 v A LTS

Question Number : 14 Question Id : 71644714 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which Hindi film was officially selected for screening at the 11th edition of the “WIND International Film Festival’ that

was held in December 20197

2019 &20e665° 280 Dok (WIND) 08)3) DS DS DRHS g, 115 JENDE” 2pDoh Edo 2 Brod Dego
eaSEBEOTT Jowt Dol od?

Options:
Url — The Surgical Strike
&0 — 0 P5S gé

Andhadhun
2. % 0TI

Gully Boy
3 x ﬁ@ £P000

Antardhwani — The Inner Voice

A v @G@gﬁb — & @) 6 J7000



Question Number : 15 Question Id : 71644715 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
In the vear 2019, 16-year-old activist became the youngest individual ever to be named *Time’s Person of the Year’.

2019 Do80oe, ‘Booy DOYS 9D & QOHE T° e DHY HOHAY TR DHOTodD 16 Y 5686 (airgDY)

Options:
Malala Yousafzai

1. & verer cdrDoarcdd

Greta Thunberg

5 o 00 0508

Emma Gonzalez

3 % ;)méﬁ"oaaﬂejé,

Marley Dias
4 x OB card

Question Number : 16 Question Id : 71644716 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, at the age of 34, Sanna Marin became the world's youngest prime minister of the country
2019 &R00e2665°, 34 VoD TP HOLANES” D) AFOR BTN PDoD0S D BB DAY DOLAYED DT
?_‘)Oiij“éd).

Options:
WNew Zealand

1 = ;muzgaa»:m&

Iceland

> % mé‘r’oé

Thailand
3 % oPO00 eFoc



Finland
4. v ﬁ:m.g.ﬁ“ot‘f;

Question Number : 17 Question Id : 71644717 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following contestants was crowned ‘Miss Universe 201977
308 TOTDHOS” DM DD 03rdDEY 2019 8600 Torrtd?

Options:
Vartika Singh

1' Wt .ﬂgg %Dﬁ

Zozibini Tunzi

7 ¢ HadD oo

Sofia Aragon
3z JTDoir ecHD

Diamond Langi

4. x Gok eroh

Question Number : 18 Question Id : 71644718 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In November 2019, became the first country in the world to introduce the World Health Organization (WHO)

recommended typhoid conjugate vaccine (TCV) into its national immunisation programme.
Ha0erd 2019 &°, DHo305™D DORDEOIOMT DDoes estiryy %08 (WHO) 2N BRD Barond Soeis orgdyD

(TCV) 20 02 a0 SidT s 56520085 PDFDED B30rT £959658008.

Options:
Pakistan

1 v RS



Bangladesh

> % EJoTt'f:%‘

Sri Lanka
3. Wt QDGQ

Afghanistan
4 = IDDFD

Question Number : 19 Question Id : 71644719 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which city was selected as the “World’s leading Sports Tourism Destination’ at the 26th edition of the World Travel
Awards (WTA) held in Muscat in December 20197

2019 20021665, 20w €565° 28R SO LrDS -

N (WTA) 26 & JE006° ‘Do Davd S& DOYE Cigo’ T by

;ﬁﬁUD;’Z};L ot FFecin?

Options:
Barcelona

1 = eavﬁ:}eﬁﬁaﬂ

Rio de Janeiro

7 % BaIr & add

Abu Dhabi
3 v eengd

Sydney

4' % c\'_)é'.‘l

Question Number : 20 Question Id : 71644720 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was the Chief Guest at the Republic Day 2020 celebrations in India?

POBBT0EY, (iBsog BIBYD0 2020 DELEOLH A NBTP JDM IFRGOITHE?



Options:
Benjamin Netanyahu, Israel

1. = Doz DS FEI, QEPOLS

Vladimir Putin, Russia

7 TOMG 3DBD, 63ry

Jair Bolsonaro. Brazil

3 o &6 S5\, 88

Boris Johnson, United Kingdom

4 % E5°BR 2Py, 0IDBE Soficad

Question Number : 21 Question Id : 71644721 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, UNESCO added ‘Nuad Thai’ to its list of "Intangible Cultural Heritage" practices. What is Nuad
Thai?

Ao0ex6 2019 €57, cmmﬁ"’zy @35 "esddod .5“0‘&)@@5 TORE (@0ePJenS ENGeS 30635 )" DGO aederes

BoTE ErolY A0 38y0d. WG T°0D 90 D7

Options:
Ancient medical system

1 = FOD PS5 Derdo

Traditional craft and art

VP x PORTRON IPREY andain £¥

Massage technique

3 v SOFS 088



Food preservation technology

4. % 580 Dos&ee roSASS

Question Number : 22 Question Id : 71644722 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Name the famous US climber who fell to his death while rappelling in Mexico in November 2019.
D036 2019 &° 203\5'¢S" T°DYoh B0 DD 630D DY US Lo PO D DDEd?

Options:
Brad Gobright

1 v eré HEes

Dean Potter

7 % A red

Alex Honnold
3 % @553 ?&f‘nﬁauec;j

Tommy Caldwell

P G5

4 = 5

Question Number : 23 Question Id : 71644723 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which language was used in Rajya Sabha for the first time in the recent winter session of Parliament in December
20197

2019 G026, atdde 20H aPED00eD bl =13 RATDT S’ U%?S;Caﬁjé“ DGO 2 2P0 EDNAIrHoECod?

Options:
Sanskrit

1 " 20 @@o

Bhojpuri
P x &850



Gujarati

3. % haod

Santhali

4. v Pomd

Question Number : 24 Question Id : 71644724 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, Shashi Tharoor won the ‘Sahitya Akademi Award” for his book
2019 200665, 33 GOEPE B0 Gowd Do Edo 'Frerdy esradd g0 ARnchOT) M.

Options:
Why I am a Hindu

1. & D DO D D0

An Fra of Darkness
2 o m%hﬁ@mﬁﬁﬁﬁ

Inglorious Empire

3 x 060D Jopbd

The Paradoxical Prime Minister

4 % © FT T35S PoDINS

Question Number : 25 Question Id : 71644725 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following awards has NOT been won by Australian cricket all-rounder Ellyse Perry?

5000 3365 €585 o DY DY & S0d Vr@OS” BAD TLED So?

Options:
ICC Women's ODI Player of the Year 2019

1. = s (ICC )&@5‘3 O 00 3D & Hod 2019



Rachael Heyhoe-Flint Award 2017
9 i TOS S -20t5 9@ 2017

ICC Women's Emerging Player of the Year 2019
3 v OTNTS (|CC]EED5}D 20800 oo 8D & Qs 2019

Rachael Heyhoe-Flint Award 2019
4 x T9S S -a0t5 e9argd 2019

Question Number : 26 Question Id : 71644726 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following institutions launched India's first indigenously designed standing wheelchair called ‘Arise’?

ol sjcsnérooémeﬁ‘ 26 ‘@580 (Arise)’ e DenHed PCBE0 0INE), DEDOGE BIOWOTT SaITDD Fodoh DS 36

a0 @“doi}oﬁ}o&?
Options:
IIT Kharagpur

1 = NT 206 376

IOT Mumbai
2 % T &S008

IIT Roorkee
3« 1T dj“ab

IOT Madras
A v T soeo

Question Number : 27 Question Id : 71644727 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which was the first UN organisation to start accepting crypto currency donations?

85)° 580y DurwrORD @oiEBotio Fr0oDoN DEd DEFTREfRE (UN) Dog J67?

Options:



UNICEF
1. v OIWIDD

UNESCO

UNDP
3 % oo ddido

UNWTO
O3 &) e & 2y

4. = d

Question Number : 28 Question Id : 71644728 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Telangana government will celebrate 2020 as the year of to promote its use in various sectors such as

agriculture, urban transportation and healthcare.
ED?E&T).%I“():DD, Qe Caores Bt ejﬁﬁé 2oL Hotd DAG Gorreres” =D DT @@Dﬂjvoa}m‘*ﬁ)é T

Debege 2020 o 20S\GoTT 20N 000.

Options:
Machine I earning (ML)

1 = 2R TOYoh (ML)

Data Science (DS)
7 Zer 2oy (DS)

Artificial Intelligence (AI)
3 v e50008 R0BdBDy (Al)

Virtual Reality (VR)
4 % aﬁmaﬂﬁﬂr:ﬁj“@& (VR)



Question Number : 29 Question Id : 71644729 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the name of the unique bar-coding software adopted by Harvana Police to ensure that thousands of forensic
reports that form the backbone of the criminal investigation system and subsequent trials in the courts of law are not
tampered with?

SD006 QRPN VP L), DD AWET Dcﬁfz Derd %f\'}gé DAL BT aulgcmgvane;@s SHC0DO
DEFCERED BenANLD0TT SIS T FBH0en 9230000 DHEDOD eP6-Ecoh FHDE DD IDH?

Options:
SIGNIX

1. % SIGNIX

eNotary
2« eNotary

eSuraksha
3 % eSuraksha

Trakea
4.« Trakea

Question Number : 30 Question Id : 71644730 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Name the vulnerability in Android devices that caught the eve of the cybersecurity wing of India’s Ministry of Home
Affairs in December 2019.

2019 &00e665° 2r6es 5o odaq Foa ed DETBL Darrio R e55800N e30Er0NE DBETG D NG OE0
(500 cDD) s

Options:
Trojan Horse

The Morris Wornm
2 % a0 ;PE&



StrandHogg

ol FH
3.0 8°

Timofonica

1 x OTIs

Question Number : 31 Question Id : 71644731 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
What is the name of the experimental and educational space satellite developed by high school students of Israel which

was launched by ISRO's PSLV-C48?
QEPONS GINE), &N B FITV Drrgdoen DG BSHD HDOITFS) S 003D DXy BoBdE &DI0. R

20830800 PSLV-C48 or(me 003rhonecod. o°d DM JDe?

Options:
EDUSAT
1. = EDUSAT
Duchifat-3

? « Duchifat -3

TecSAR
3. = TecSAR

Intelsat 24
4. = Intelsat 24

Question Number : 32 Question Id : 71644732 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The government of India is testing a prototype of an Indian equivalent of popular messaging platforms, such as

WhatsApp and Telegram. for secure internal use. What is the name of this platform?
PDOLSRORD 0BG EDAITM0 Frdo T7enD adoin SOTP) Hotd DRG Aol TS0 DATIDOD 2PEAOD
RATPR AP eP0S HEDE DOAT 0. S Jre5 P DW IDE?

Options:



Collaboration and Messaging Service (CAMS)
1 = Fere)dne s0doin ouHeoh ;13555:. (CAMS)

Government Unified Messaging System (GUMS)
2 % (1650 D005 0P IPE Do PP (GUMS)

Government Instant Messaging System (GIMS)

(1630 D0ES Y08 D00 a0 (GIMS)

3. N

Government to Government Chat (G2G Chat)

4 % (1630 D00 1) (1630 Dokd &°65 (G2G Chat)

Question Number : 33 Question Id : 71644733 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following is an Earth observation spy satellite developed by India's space agency ISRO? It was launched

in December 2019 along with nine foreign satellites on board PSTV-C48.
S0 ordded” DG 9RITCR 70y FOTES JO?HID DIDIBD-D 48¢5° FI0Ld DB edFFod Jren 2019 Eoendes”

ROIOoTF.

Options:
RISAT-2BRI1

1. « 0%¢5-2BRI

Cartosat-2

7 % ?Q?&S-l

TeLEOS-1

3. = ©Hdc3rH-1



SCATSAT-1

4 = 3";5&5 F°¢5-1

Question Number : 34 Question Id : 71644734 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Researchers at created the first-ever Indian Brain Atlas referred to as ‘IBA 100’ in October 2019.
2019 566" ‘DD 100 17 205G DD ePGBAL B0 9EPRDD DG DOF L
22208 C.
Options:

All India Institute of Medical Sciences, Delhi (AIIMS)
585 QOC.OIT ADNATGES e5D MALS DD, &Y (AlIMS)

Indian Institute of Science, Bengaluru (IISC)
QOC.C30R) QDRI €5 DR, Bofivrdd (IISC)
Ex

International Institute of Information Technology, Hyderabad (IIIT-H)

3 Q0eIT) DRI @YPITYES 9D ANTLOD EESDSL&R%, weesorerd (INT-H)

National Brain Research Centre, Gurugram (NBRC)
4 % A0S o 61:1{5; 2oed, odoray (NBRC)

Question Number : 35 Question Id : 71644735 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
In July 2019, ‘Bhabha Kavach” was launched at the International Police Expo 2019 in New Delhi. Which of the

following correctly describes this product?
2rgd 2019 &, S &De” 260 0808 23065 B D&y oF 2019 &5° ‘2rer €55 JrooDocietod. SodHaredes” Db &
s o DO DIBL0?

Options:
Radiation protection suit worn by nuclear workers

1 = O 5°0) £0ew (5008 BEOHND THES e



India’s lightest bullet-proof jacket
9, DPOBBB0 B0, BOSTD LTS D 27565

Explosive Ordnance Disposal (EOD) suit
3 « DR T dﬁﬁgaeﬁ (EOD) 7065

Firefighter protective clothing also called as bunker gear

4w OOITDOSE 656 e, DD 2086 B6 €9 L DEVIPHD

Question Number : 36 Question Id : 71644736 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following options means an irrational fear of being without your mobile phone or being unable to use vour

phone for some reason, such as the absence of a signal or running out of minutes or battery power?
308 e DB €208 D DB T’ S0z &ocstro S M) & GEF Do T DDaren (EDTDCo T ergerd
006 FS Do Do §IY 520 DB D TR 6DOIFNoSTET S0 9D eardus Zato?

Options:
Drosmartoiphobia

&8 parr

Cyberphobia
7 % 26 THor

Nomophobia
3 ¢ S o

Selfiephobia
A x 29y PDotr

Question Number : 37 Question Id : 71644737 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Name the welfare scheme that comes under ‘Elaborate Governance: Navaratnalu of YSRCP’ and promises to build 25
lakh homes for the poor over a five-year duration.

= 243 QY POED0 DHEo DO DD0E?
Options:

YSR Cheyutha

DYBROD oD PODLIIGVD & DoAD DOCTPY e’ BOID DHY DIDES” DO 25 VO MDD DB)FOD

1. & 200OS ST

Pedalandariki Illu

Y @ Doe0c0S QL0

Jalayagnam

3 % E—‘.JE}D“_‘U@G

YSR Rythu Bharosa
A % DODDsE TS B

Question Number : 38 Question Id : 71644738 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is NOT a prominent tribe of Andhra Pradesh?

20HTHE” DO e50GnHTL Dod AV B T ?
Options:

The Savara tribe
1. = 2Dooe &0

The Gadaba tribe
7w TmEr &

The Konda Reddis tribe
3 Fors Egi} a(F



The Santhal tribe
A & PDodseS @l

Question Number : 39 Question Id : 71644739 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Name the freedom fighter who designed and handed over the tricolor (which later became the national flag) to

Mohandas Karamchand Gandhi.
DIPOTR E0o30b TodS, SHTDY (Smord 2P0 oI DTTHE) EPDEOND T 90y PoDD &5@30@5

FeD00ITEDED .

Options:
Pingali Venkaiah

1 « oY Ej-oéa‘_b?g

Ayvadevara Kaleswara Rao

% % @&i}ééaﬁd E‘*@?éﬁﬁnﬂ@

Mutnuri Krihna Rao
g x OO I geie))

Gottipati Brahmaiah
4 % FFehared eyaory oo

Question Number : 40 Question Id : 71644740 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following events is associated with the Congress working committee meeting in Vijayawada in 19217

1921 &° Daoharaes® 2805 sPono 28),00 S0 DATFDB0E & 306 o DoLVLIDLD Roeorry SBAHTTY 007?

Options:
Allan Octavian Hume was present during the meeting.

1 = PDaros0e) 90 550D STTYRD DPROOITID.



resolution demanding complete independence from the British government was passed.

A
5 DOR HHB0 ol WY .5“5@0@50 EHar .8 30700 DTG0,

3. %
Talks between MK Gandhi and Lord Irwin led to signing of the Gandhi-Irwin Pact.

D05 Trodd SBAIL &P WOLD VG BONED TFoH-QB(D 203060 VoBE BONEEIS TOST0.

MK Gandhi's leadership of the freedom movement was accepted.

3”5@9@5 e[S Jod TPod) TPaDEB0 ©oHSBocset:od.

4, v

Question Number : 41 Question Id : 71644741 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
‘Andhra Mahabharatam’ is the Telugu version of “Mahabharata’ written by Kavitrayam, which means trinity of poets.

From the given options, identify the poet who is NOT a part of this trinity.
gapered” Hadrgen ead ©%o 2303y SDgGao TR ‘aeferCeso’ O00) DD DGR ‘es0g) ADFRTPOB0’. QN
DONER A0E, S BAPGOS” Zrtio T°D SO HBocsol.

Options:
Nannayva

1 ® ééﬁlﬂ:ﬁj

Pampadu
? & Doarcd

Thikkana
3 % @Sbé

Yerrapragada

4 % ODTDAC

Question Number : 42 Question Id : 71644742 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following hill stations is located in the Visakhapatnam district, at an elevation of more 3200 feet? It

receives snowfall during the winter season in India.
& Bob TOS” D 1S PR DT D) 0 2’ 3200 ecdme IBS” &) 00? WY E PoSBBoS” Frsrenes®
VR0 DA,

Options:
Lambasingi

1. v eoexoh

Horsley Hills
0N ﬁ]ﬂf_ﬁ:}

Ananthagiri

3 % eadoadhb

Araku Valley
4. % 0% &5°an

Question Number : 43 Question Id : 71644743 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, the Andhra Pradesh Legislative Assembly passed a new bill called . which provides for

awarding death sentence for offences of rape and gang rape and expediting verdict in trials of such cases within 21 days.

2019 &o0eabes, e50G00BT TS 9 @ Do DrdoN0d, A TRERCo QBTN POUPETS
RTFIETC DTV DVORTLRD ADTIS DB @enHod Shuw Darcrees’ 21 Beei’sy Gy Dridoco S0
DD EDV0d.

Options:
Disha Bill

1. v &ar DS

Nirbhaya Bill



Ayesha Bill
3 % escher DS

Bangaru Thalli Bill
/. x OO &9 Den

Question Number : 44 Question Id : 71644744 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following articles of the Constitution of India grants special provisions for Andhra Pradesh?
ZPOB U008 300 D &85S eoGHRTH PB/LE DOITFRTO BEFMR0H?

Options:
Article 371-A

1 x ©0SS371-A

Article 371-B
7 % Hgéeﬁ 371-B

Article 371-C
3 e:?géeﬁ 371-C

Article 371-D
A4 v e:?géeﬁ 371-D

Question Number : 45 Question Id : 71644745 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was the second president of India? He is also a Bharat Ratna Award winner.

ZPOECYE Codad Uﬂﬁgﬁb@ Qa7 eaddsl) 2P0 d@;ﬂ €950 gjﬁjﬂéj =Sl

Options:
Sarvepalli Radhakrishnan

1 v RO TR



Abul Kalam Azad

7w e9e1ed Sero esard

Varahagiri Venkata Giri
3 % SoesrENd Dose HO

Neelam Sanjeeva Reddy
4. = Do o ol

Question Number : 46 Question Id : 71644746 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Name the comprehensive e-governance project launched in Andhra Pradesh to make for good governance and

transparency in administration by judicious use of digital technologies.

E20S H57) VBV THONOTT DTN TP{TP DBJOHS" 2od) PR BT FOGTES Ed0 0gHHFS”
P00DOND DA Q-0 Dy FBL DO

Options:
e-Sarita

1. % e-Sarita

e-Drishti
? s e-Dnshti

e-Suvidha

3. % e-Suvidha

e-Pragati

4. « e-Pragati

Question Number : 47 Question Id : 71644747 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following is a welfare scheme under which financial assistance will be provided to the farmers of Andhra

Pradesh?

2o Q DoEaD DKo 306 esoGNBT Beleh €505 DDFOD0 L0HODEEDBI0H?



Options:
Pensionla Pempu

1. = DR DoY)

Pedhalandariki Illu

> % Dee0cbs QL0

Rythu Bharosa

3 o DO BOF

Amma Vodi

1 % €90} 2

Question Number : 48 Question Id : 71644748 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the name of the innovative public private partnership launched by Andhra Pradesh government to promote
youth employment?

ODDE ErHD FEPTostrDS ogHBT DIVBL0 FPooDoDD DATSY DILSB] DD 2PATFLEV[0 DA IDOH?

Options:
Rajiv Yuva Kiranalu

1. v o2& civod s6een

Netanna Hastham Scheme

2 % RBJY T°Yo DESo

Pelli Kanuka Scheme
3« E}@a T8 Dgo

Adarsham Scheme

4 “ Eﬁ{:ﬁﬁ;}@ S0



Question Number : 49 Question Id : 71644749 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following belongs to the Yuvajana Shramika Raithu Congress Party (YSRCP)?
30HT°0S" DM clwa2D TS T SPodR P (D030De38y0) £ BodIT®?

Options:
N Chandrababu Naidu

1. % < ogeren TPoi0E

Pawan Kalyan
2w DD Sy

Jagan Mohan Reddy
3 v 2018 7R OG

Kanna Lakshmi Narayana

4 % &) U?% FOP030E

Question Number : 50 Question Id : 71644750 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In July 2019, Andhra Pradesh passed a law to reserve of private sector jobs in the state for locals.
g 2019 &, e0ga% DELEE, Qﬂagm o 2D Sofi eSO 300D HPD) DTHI0A.

Options:
49%

1. = 49%

60%
3 = 60%



Question Number : 51 Question Id : 71644751 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, Andhra Pradesh Chief Minister Jagan Mohan Reddy hinted that the state may have a total of three
capitals to keep up with the aspirations of the people. Which of the following cities was NOT a part of these three

proposed names as capital?

2019 &ooerbe’, Dae esPoL0R FAJNOSEIS T7gPdS QG0 SIIPE) TIPRD GO oGntT

SN0 RO DI TG 0BTPeD REFND. S DD DATO Tracrd D', 08 Soeg” SO I&?

Options:
Vijayawada

1. v Deovaorc

Amaravati

7 % eaTEOR

Visakhapatnam

3' “ Ej?ajﬁ.}e.}lo

Kurnool

4. = Sd_'rﬂnlm

Question Number : 52 Question Id : 71644752 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What was the name of the awareness campaign launched in December 2019 by Chittoor Police in Andhra Pradesh for

safety of women and children?

2019 Gr0e665°, 306003 DEro DFDven dudTEven dboiy DO HHS o FrEodod)d TS DErco

0 DIER?
Options:
Surakhsha

1. & wos



Ujjawala

2' ® EEE:SFJ

Abhavam
3 R4 e300

Sukanya

4. = 058

Question Number : 53 Question Id : 71644753 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In December 2019, Prakasam (Ongole) district police launched a pilot programme in Andhra Pradesh that offers to pick
up and drop women who are stranded between 9 p.m. and 5 a.m. to their homes free of cost. What is the name of the
pilot programme?

2019 &200e0665°, T3 9 ot Aol &EOI0 5 ot ADE] DE) HT 0D METFOR DED BRHD SOOIV

&S0 070 QYL DEDOIL PO Frodn BP0 (woffel) 2ar T Diven esoeHBFe” Jrtodoer. & pods oo
DED DDEY?

Options:
Abhav

1. v oz

Saathi
2. x 6

Sangath
3. % Dord

Anurakshan

4. % ©D05€h

Question Number : 54 Question Id : 71644754 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which is India’s first and oldest shipyard established way back in 1941 in Visakhapatnam? It has built vessels, repaired
ships and is also known for conducting repairs for Indian Navy submarines.

S)?aa‘&)é.}:ioe_‘)‘ﬁ 1941 &° guﬁmamd;a aPOBD30 GG, DLWV ABOKD YT°S ADOITH DB? b DB oDeIE
EICEORD, DO BOLD S0 FTEos DA eod 0B FRCE ISRV BOOSBTHN DTV, O i}ﬁgﬁjﬂoambé
S DG Dobod.

Options:
Garden Reach Shipbuilders and Engineers

B F
1 » T80 0 2dDYW SOOI RoaI

Naval Dockyard
7 % o8 TS 00

Hindustan Shipyard Limited
3 v aPOCIFR VDOIFE DDGBE

Bharati Shipyard Limited
4 % PO OO DDOBE

Question Number : 55 Question Id : 71644755 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which district is called ‘The Rice Bowl™ of Andhra Pradesh?
e30GDTL DoAD D B 'O TD 75 09D DenJd?

Options:
Chirttoor

1. & DErD

Kurnool

7 % Smﬂim

Srikakulam
3 x IS0



East Godavari

4 v ATCDY B

Question Number : 56 Question Id : 71644756 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As Andhra Pradesh is well known globally for its variety of rocks and minerals, it is called of India.

DG 0570 To%0y) SOOI NPV PDOIT0TT 0D ‘Qf&@ Dodod, B oo o0,

908D,
Options:
Kohinoor

1 = Eirpdrs

Navratna

> % ﬁ)&j{j@;}u

Ratna Sagar
3 % 09) 00

Ratna Garbha

4 v d@i ﬁtﬁgj

Question Number : 57 Question Id : 71644757 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The Nagarjuna Sagar project, which was completed in 1960, is one of the largest irrigation projects. Name the river on

which this project is built.
1960 &° JPGoR TTPHD F16 FES edDG IBFMEL FBHOS" 268, & FES D D DO A B owrdd:
Options:
Godavari

1. = 8orod



Krishna
2. v 9B

Cauvery

3. % To0b

Tungabhadra

A ©000BE

Question Number : 58 Question Id : 71644758 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Andhra Pradesh ranks first in India in the production of

2O F0eT, e300NDT ENAS” 206D gvxmeﬁ* Eod.
Options:
rice
1. = 6
leather
? wx &epn

fish and shrimp

3 v el adotin 6“05;5&5

sugarcane

A w DOHEEE

Question Number : 59 Question Id : 71644759 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following cities of Andhra Pradesh houses the Jawaharlal Nehru Auto Nagar Industrial Estate? It is the

largest automobile industry hub of Asia.

300 TOS° D A160eS” e30GHRTS) 2GS VTP e’ 16 ROERODS IR €007 B VOIS’ dG

e565° D00E3e) DO SoGolT &od.
Options:



Visakhapatnam

1 % D?a::‘&:re.}la

Vijayawada

7 DRODTE

Nellore

3$3221§3}°{‘_D

Anantapur
4w BJ0BNCo

Question Number : 60 Question Id : 71644760 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The state of Andhra Pradesh shares its borders with many other states. Which of the following states does NOT share its

border with Andhra Pradesh?

£50GNBT T°Po B DBITLION DS B ToFPOF Do0L0d. S0dTOS” D TR LogHBFH BTG

o7
Options:
Kerala

1. « Bow

Tamil Nadu

7% ODVTRE

Odisha
3 % adar

Karnataka
4 % gg“ﬁ}g

Question Number : 61 Question Id : 71644761 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
The Southern portion of the state of Andhra Pradesh is identified as

e50g0B% T°RoSd B DY T (hdowrdd.

Options:
New Andhra

1. % éa“50@

Telangana

7w Do

Coastal Andhra
3 & EFog

Rayalaseema

4. v Trohedan

Question Number : 62 Question Id : 71644762 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which is the largest district of Andhra Pradesh in terms of area?
DRG0 HOOTT 50FHRBS” DG B IB?

Options:
East Godavari

1 = APy B

Kurnool

7 % Smﬂim

Anantapur
3 v es0eaNdo



Vishakhapatnam

4' " D?a::‘&:re.}la

Question Number : 63 Question Id : 71644763 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Andhra Pradesh has the second longest coastline in India. Which of the following states has a coastline that is longer
than that of Andhra Pradesh?

POBE3085°D Docis TFEDD BOFomrd) soSHBT SO 0d. 30B70S° D TR0 0GHBT S0l I 3 BoFroco

£ soby?

Options:
Maharashtra

QeI

(Ber

1. =

Gujarat

? @ (haTd

Kerala
3 % Bov

Tamil Nadu
A % DT

Question Number : 64 Question Id : 71644764 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is the highest mountain peak of Andhra Pradesh?
e50GDBFG’D BN DOYD D00 SoHTS” IO?

Options:
Kambala Konda

1. % Soexeo ok

Wishan Konda

2' Y :?:]E_‘J_é goz



Pesiduvaripalli

DO T00Y

Arma Konda
4 v 90), o

Question Number : 65 Question Id : 71644765 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Nagarjuna-Srisailam Sanctuary of Andhra Pradesh is the largest tiger reserve of India by area. What is the new name of
this reserve?

SOGNBTS’D TTPHI-FO0 BO-CE0 DGo HOOTF LPEBBF0S D LG B6 26y (Weww WosLn Sogo). &
Ba6q CInE) G DO JDe?
Options:

Rajiv Gandhi Wildlife Sanctuary
1 v T2 TPod DAFw eZIoiroeejo

Pandit Deendayal Upadhyay Wildlife Sanctuary
I % DOCE HIGOITY GFPTR0I DAjPEIR eZIaTTFOLR|0

Indira Gandhi Zoological Park
3 % Q0BT° Trod ererRses arb),

Krishna Wildlife Sanctuary
4 x 98 DIV FIOIFOLR0

Question Number : 66 Question Id : 71644766 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The longest river of South India is based in Andhra Pradesh. What is the name of this river?

A6 EPOBEToT D TFEDD DO SoGNBTS” God. S DO DM DDEd?

Options:



Cauvery

1. & =b

Godavari

? ¢ Oorod

Krishna

3 % S8

Penner

-=

4 x D)

Question Number : 67 Question Id : 71644767 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is NOT a district in Andhra Pradesh?
BoHTrRE” IO SognBT &' B T0?

Options:
Kadapa

1. = S
Vizianagaram

7% D@oaico

Prakasam

3 % QS'D%'D

Tumkur
4] v 00876

Question Number : 68 Question Id : 71644768 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following is one of the largest freshwater lakes of India? It is situated between the Krishna and Godavari
delta in Andhra Pradesh.

308 D" DB ePCHBFS D BDG ODVB DOLNWES” 2,507 9 oGHBIS"D L5, Horad agro gy cod.

Options:
Wular Lake

1. % @E‘_}ﬁ ‘.,-i}tj"nj_'}:]

Kollern Lake
2 J ggﬁ) “&]@Jn}):j

Loktak I ake
3« e5°¢5 Jﬂﬁmﬁ

Vembanad Lake

4 = P o oA ru foﬁmﬁ

Question Number : 69 Question Id : 71644769 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Anantapur district in Andhra Pradesh houses *Thimmamma Marrimanu’, which was recorded in the Guinness Book of

World Records in 1989, What is Thimmamma Marrimanu?

1989 & ADYD en5 5D H6G 5N &° 60§ SoeEd ‘B dn) JATRY BoGNBFS’D Dot 2erS” God.
Aa0) ) SPAT €90 DDH?

Options:
It is a temple with the most number of steps in the world.

1 = @0 D000e5” 9BIOE T &) esvobo.

It is the longest sari in the world that is made out of pure silk.

RGN e BAIGR DDos0S™D 9 TEDD D6 2.

It is the largest Banyan tree in the world.

3 v R0 DHooed D NG 200 DD,



It is the biggest hall in the world without any pillars.

4w Q0 Dowren T D005’ D MDY Dfe.

Question Number : 70 Question Id : 71644770 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
What is the name of the caves that are situated near Visakhapatnam and famous for million-year-old stalactite and

stalagmite formation?
DT DD 0 DDDoS” €D @BA30 DDA PODBNTL PTG FFOFES SBCEID FFOTLE IGNEEPIS DG BodD

P DD D7
Options:
Borra Caves

1. v 8T (Lrew

Edakkal Caves
% % :?J(:iébej taIme )

Belum Caves

3. % oo e

Guna Caves

A4 = e hare

Question Number : 71 Question Id : 71644771 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following cities is the closest to Koundinya Wildlife Sanctuary in Andhra Pradesh that is essentially an

elephant reserve?

& 308 STPY” D& HBGS DRA0DR DoCLER FoGoTr &) oGNATED Tl DT ZOIFOEFiDS o

=ofy?
Options:
Nellore

1 %agpnm



Guntur
7% (Dotard

Chittoor
3 ¢ WErE®D

Vijayawada

4 = Dwoard

Question Number : 72 Question Id : 71644772 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following is the highest waterfall located in Nerabailu village of Andhra Pradesh? It is surrounded by

dense forests and home to rare and endangered species of animals.

B0HTHS” D& oGBS D DoPen Traned” &) IBD 2OTG0? D AT GLDOR BEHLD ET) 0. A

eaDES a0daiw Eﬂo@@oﬁ}fﬁmé@ 2Pdi0 BodSNLL Dexado.

Options:
Kuntala Waterfall

1. = &otre aearao

Duduma Waterfall
7w OO BOrES0

Ubbalamadugu Waterfall
g SERVDCOM 2030

Talakona Waterfall
4. v sofd aodrdgo

Question Number : 73 Question Id : 71644773 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
What is the name of the cyclonic storm that hit Andhra Pradesh in October 2018 and severely affected districts of

Srikakulam and Vizianagaram?

2018 e95e16e5°, e50B5e” Foethwo, HRODHIC0 B0 SHOT HaPHie 0D Soaadd DO IND?



Options:
Fani

1 = o6

Titli
2.v 92

Bulbul
3. % eved ened

Laila

4 = DT

Question Number : 74 Question Id : 71644774 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In October 2014, Visakhapatnam or Vizag, the largest city in Andhra Pradesh, faced massive devastation caused by

‘Cyclone Hudhud’. What is the meaning of the name *Hudhud’?
08ed 2014 &, 50gHBTS "D 9BDY HICRLD DFVOL 0 Tor Parl, TVE Buard’ HY &0 ITETD)
D) 08. TOEE’ e 1 A3, o ID?

Options:
It means hood of a big snake.

1 = A% 29030 DG aPa) 308, DEM.

It is a Thai word for sapphire.
7 % ad duss grod Doo.

It is an Indian name for boys which means “wind’

3« 6 2POSI0T EFEDC DD, A e9go Y’

It is the name of a bird in the Quran

4. v R0 ADTPD 57D HA DM



Question Number : 75 Question Id : 71644775 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following cyclones occurred in Bay of Bengal and made landfall in the state of Andhra Pradesh in

December 20187

dod TreeS” DO exorrwearaioed” Dodidod), 2018 &raoeded’ esodind® ol 8| éc‘ﬂ;l w305 ?

Options:
Onil
1' ® £.2e5
Phethai
2. v DO
Gaja
3. %
Hikaa

a

4 x T

Question Number : 76 Question Id : 71644776 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In July 2017, a state-of-the-art lightning tracking application, which was developed in collaboration with ISRO, was
launched for BSNL users. Users of the app get alerts from the Andhra Pradesh State Disaster Response Management

Authority on the location of lightning at least 45 minutes in advance. What is the name of the app?

arg 2017 &°, BSNL Daoirriorome oo, @ (ISRO) dirscods D0 DOVDED ITIEDE 5§ TEDoh Erdoh
D3ND FrooDodertod. & 0IFd G0, HACIFATEERD SJ70 45 DDEPL DVEEIPD DEXD DoZidoie o
(DB0d) e30GHAT TR DDA DAV DI OO Aol TPBSORD oM. S 0P DM IDEY?

Options:
Sampark

1 % ﬁﬂbﬁb

Vajrapath
7 o DEDD



ZeroAlert
3 ® éﬁf .;JE'_}Q

SatarkApp
A % ?i]@ﬁb 03D

Question Number : 77 Question Id : 71644777 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following systems was put in place by Andhra Pradesh State Disaster Management Authority (SDMA) to
initiate real-time satellite communication?

& 308 TGS BID BN B EDFP DATETFC QGG FooDoscDS 0GNEBT T°Y DB DOre w0
(SDMA) eozne5"a BN\oh?

Options:
Indian Regional Navigation Satellite System (IRNSS)

1. % Q0C.030 DS TN T DRa (IRNSS)

Satellite Based Mobile Data Voice (SBMDYV)
Y o FHTE B DS Eér oD (SBMDV)

Navigation in Indian Constellation (NaviC)
TN AR RotoR D0 (NaviC)
[}

Satellite Based Augmentation System (SBAS)
4 % THOES B2 LoD R (SBAS)

Question Number : 78 Question Id : 71644778 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the name of the mobile app that makes use of Automatic Weather Stations and Ground Water Piezometers,

installed across the state of Andhra Pradesh as well as weather forecast data from ISRO to provide required weather
parameters?

RI0GNET TRTIROMT DOOTN DVCDN TPTPH0E TP eodod 2 (ISRO) g, D6d 6 =g &er &
Qe DD, DEDeTFDS TrerEHces PO BT APy B PE'DG SDATHCEOHD DS 0IrDd DEO
[ ] T

DEy?



Options:
APDMS Mobile App

1. = D dand (APDMS) 2008 aird

Andhra Pradesh Varuna
7 ¢ BOGDDT OO

Andhra Mausam
3 x Bo& aFw0

AP Vatavarana
A = AP oresoce

Question Number : 79 Question Id : 71644779 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
If there is a heavy downpour with incessant rains and cyclonic conditions, which of the following will be issued by

Andhra Pradesh State Disaster Management Authority?
PP mﬁf’gmaﬁ 2080 IEBBD G0 HOWDY 278 Sgren DY, & Sod TrHS” B ogHBT ToY DDA

DOETee 05rde) 26 SX00d?

Options:
Red Corner Notice

1 = B& 5°0) 6 STATAY

Pink Slip

E: ] o_ F
7 % 05 o)

Orange Card

3 % wﬁoé?g

Red Message
4] ¢ BE &



Question Number : 80 Question Id : 71644780 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is a popular remote sensing method that uses light in the form of a pulsed laser to measure
ranges (distances) to a target on Earth’s surface?

&3 308 T°0eT DO BP0 0h08), E0BBOR ©EJ0 DBV (ArTren) Fodmds D&y Tab droes” 520D
€:0030°N0td DG ODES DI DHB?
o G
Options:
Light Detection And Ranging (LIDAR)
1. v g¢) GHE~ ek Gooh (LIDAR)

Integrated Taxonomic Information System (IT IS)

7 otdRE w%ﬁgmmé ERNORS ~a (IT 1S)

Continuous Emissions Monitoring System (CEMS)
3 % S0 IDOND BB a0 (CEMS)

Surveillance Towed Array Sensor System (SURTASS)
4 x BTy eﬁﬁg} €99 20my6 2 (SURTASS)

Question Number : 81 Question Id : 71644781 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In Andhra Pradesh, is the real-time governance system that incorporates detailed disaster mitigation plans,
integrates other real-time data and shows these on a single pane of glass that enables decision-making in a timely

manner.
DOCEFE S VDB BHOD PEFPEOR SN G0, QG HODE Bo EFRD RVOTTIYF SDBOT DAVOIFRAJICorT
Dgotio SR0E DTS Dew 584033 2.8 Trer DS (DohHe TP DI)D DOD SroD oGNS’ oM B (10) Ay
NIV
£
Options:
Microsoft Tarang System

OEID 0oh DD
1. =
. e EX [



Google Geo-Spatial System
o (D5 220T°-2ye00e5 P

Hitachi Visualization Suite

3 P DOTEND QS

Huawei Spatial Data Infrastructure

P T8 i) ?onjﬂmjjt’i' Ce @@QQ%S

Question Number : 82 Question Id : 71644782 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which of the following technologies is used to forecast heavy rainfall and thunderstorms?

&b Do dBOI GHODED WDNOF EPED BN (Pocd FFon)M eodar DaEIS & Jod JroSay

ﬁbﬁqagoauueﬁ‘ DB EDTRoEICER 06 ?

Options:
Doppler Radar Network

1 v E;:U?Qtﬁ or=0 5255356

Tactical Control Radar
9 % P85 5063’ Tord

HENSOLDT's Radar System
= -
“PS:]E.;;Q ore6 DR

Inverse Synthetic Aperture Radar

1 = @.ﬁsﬁh 0GESE ‘DE}CSC.]S o6

Question Number : 83 Question Id : 71644783 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In September 2018, Intergovernmental Oceanographic Commission (I0C) of UNESCO organised a two-day tsunami
mock exercise (drill) for India and 23 other Indian Ocean Nations to enhance tsunami preparedness at community level.

What was the name of the exercise?

poeb 20185, SEDJ“?SKJ-&EJ Qvo:oe? 0T D) GO DocT=IS, o:m:ﬁ"’bs::p (UNESCO) S0& @08501:36) 200e3e5
£0FTDS 8000 (I0C), ercadizo SO0ID 23 QB0 SP0GI &P &7 0 §0 Toth Bere Lomardd &8
S0 ()R DOGEToD0b. S IENTE DM DDd?

Options:
WaveFront2018

1 = D5 ot 2018

INDRA2018
9 % @ogr 2018

IOWavel 8
3 v 0 ool8

Abhyaas 2018
4. = eoege> 2018

Question Number : 84 Question Id : 71644784 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In February 2019, Andhra Pradesh stood fourth in the list of states of India in achieving national targets set for 13 of the
17 Sustainable Development Goals (SDGs) by 2030. Which of the following states is ahead of Andhra Pradesh and in
the Top 3 list?

DpHd 2019 &°, 2030 s 17 ?(Df{gtﬁ @E‘f)&ﬁl;}tg D&ﬂémﬁ'ﬁ (SDGs) 13 o DGOV APEIOTD VBB FHocicioes
08 Trgre rdure” 0GB Yo goaoej" €:00. € 300 T°re” D& e50G0BT S0 AVocded &Boiy erd 3

aeDTeS” GodH?

Options:
Maharashtra



Madhya Pradesh

Himachal Pradesh

3 ¢ TOrDS PO

Punjab

A = Doaeed

Question Number : 85 Question Id : 71644785 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is a target set by Andhra Pradesh to achieve by the year 2024?
& 3oHaredes” 2024 TrdS es0Q0BT DFIocEhdy wggo AH?

Options:
To become India’s first 100% zero budget natural farming state

rALLOLE A STe) DSJJEET a0l 1007 ma“;l E.}%Eﬁ (180 2oaTea aj_saj.ﬁ“cm U°g)oT e9e300citio

1.«

To become the number one state in rice production in the country

B3085° Dotgo &S AS” DE T BBoSo

To become a state with zero bad debts by farmers for loans issued to them

B0 @y e o 6D LIBDNED R0 (F &) T°ROTT AFGeio

To become the first state in the country with 100% adoption of crop insurance by farmers

D060 DA geoen 1007 DEB0D B3085° DG THOT™ IHBB0L3E0

Question Number : 86 Question Id : 71644786 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



How many Sustainable Development Goals (5DGs) were adopted by India in September 2015 as a part of the
resolution, *Transforming Our World: the 2030 Agenda for Sustainable Development’?

'eyvﬁﬁ%oﬁ 29555 u‘_:ncieg: & 2030 eS80z D6 DPDeNS c‘:‘.é@?‘%oﬁ (R}Jfgd @E:l&f}g% ) B9 @Dﬁ&:ﬁoeﬁ’ﬁ zgreciore 2015
03083665 PGB To DY MODC 9NN oze (SDGs) HeEBodod?
s ). e 2g U S

Options:
10

1. = 10

17
4 v 17

Question Number : 87 Question Id : 71644787 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

At the Central Government level, which agency was assigned the role of overseeing the implementation of Sustainable
Development Goals (SDGs) in India?

Bog DB .g"cm?ﬁ& OSB3 20RO oDy v (SDGs) eavenidy DOfDE0D TG D IBNS edyRoTrad?

Options:
The Energy Resource Institute (TERI)

1 « & DY BT 6y @dyearses (TERI)

NITT Aayog
7 DN esairEh

Center for Environment and Sustainable Development India (CESDI)

2068 DO ATV 085 90& VRVEVE TIID) 08 QoLOIF (CESDI)



The Comptroller and Auditor General of India (CAG)

1 & So0afe0b ok e5Ged 2508 D @odolr (CAG)

Question Number : 88 Question Id : 71644788 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Name the grassroots women's organisation in Andhra Pradesh which is among the 22 winners of the United Nations
award ‘Equator Prize 2019°.
DETRIDN D) ‘S50 P& 2019 DEGen 22 000" &R 30GNBTS D LXICD SVETV® Vo DA

e = £ ]

Options:
Women in Need Association

1. % €D A0 DE T DAHND

AP Women's Co-operative Development Corporation

I« AP D205 F-e5000D ToHOD Dotd 5‘*&%6‘&5

Deccan Development Society

3 CELD EDODI0E TS

Gramya Resource Centre for Women

4 = TPy 5?3“53 2086 D6 DD

Question Number : 89 Question Id : 71644789 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following steps was initiated by Andhra Pradesh government in September 2019 to keep a check on
pollution by industrial houses?

DrOFe Y OO SPLNOD B3P oD 2019 15530856° e3000T DVELBCo S §0d FTO[ETS” IO
@"(ﬁoéj}oiﬁoé?

Options:
Requiring such companies to plant 10,000 trees

1 = oo Soden 10,000 D68 TexGo ©Dd00



Imposing and collecting green tax from such companies

2 o et 1008D ";00“'%}&) ot srHa Eb.{DQ\L DE0tIcio Aol ShTreD oo

Increasing the penalty to Z 20 lakhs if action is not taken as per notice

7 S0 HF°C0 B6jen BOEETB 2dIrT T 20 LLODH DodEo

Disallowing further production activities in the plant with immediate effect

4 x S F0ot5eS" BB EBND SOETrIrOD RABDET Do

Question Number : 90 Question Id : 71644790 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

are losing their lives due to mechanised boats and big nets used by fishermen for fishing in Andhra Pradesh
and Odisha.

e30G00T SO0 287" Sen =D m@bés"d)w &000°ocd 0irods HEDHLD &I DY DY SPGERTT
rreen B’ yaTey o,

Options:
La Plata Dolphins

1. “ BT Q“EJ“ E“E);)ﬁg

Emperor Penguins

7 % Nlirelele DDﬁS‘EJ

Olive Ridley sea turtles

3 o 99D BG DAVG TETD

Mystus Seenghala (Catfish)

4 x 2000 ozoe (5465 Ha)

Question Number : 91 Question Id : 71644791 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



As per the new sand policy of September 2019, which agency has been tasked with operating stockyards in Andhra
Pradesh?

086 2019 Fg @rns Hrrdo R5°00, 0gndses” FPE0Irme DO J B DoLDoerem?

Options:
Andhra Pradesh Mineral Development Corporation (APMDC)

e30GHDT DS OV 5F\GD (APMDC)
1. v A

Andhra Pradesh Realtors Assoclation
7 % I0G0DT 001Gy TICHND

Andhra Pradesh Forest Department
3 0GNDT FOY Car@daol)

Andhra Pradesh Pollution Control Board (APPCB)

5050BF TP D Sots'S &5°6 (APPCB)

4. = )

Question Number : 92 Question Id : 71644792 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As per the analysis of water quality by Andhra Pradesh Pollution Control Board (APPCB). the quality of water in all

major rivers in Andhra Pradesh falls under category.
e50E50% Bren)y Dooges oid (APPCB) 32008 I8 Sreajd 05°00, 50g0a% &7 &) ord dcwds” 28
PRy Dot Hod.

Options:
A

1. = A

? = B

3.v C



D
4 = D

Question Number : 93 Question Id : 71644793 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is a first-of-its-kind youth interaction programme in Andhra Pradesh to create awareness on air
pollution?

TPO3D S0P TP SBy00emdS eognBse 28 RS crd QLT ES T I&?

Options:
Fresh Breath

1. = FeeRAla

Alr Your Voice

? s D006 odwHd arond

Eco Air
3 ¢ 25 Jowd

Enviro Clean
4 ® ::)3566 éé

Question Number : 94 Question Id : 71644794 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following institutions was formed by the Andhra Pradesh government to provide an effective mechanism
for collection, transportation, storage, freatment, processing, delivery and disposal of industrial and other waste?

& 300 ?ijo“’%}veﬁs BID FOT0E S0BoID QG D[TO VSR, CarreE, Jex, D3y, aradoh, 96 Sobosiwn
Srooaeio o REDGHOBTVD CIOZFOTTD) 90H0BE"IS GHBT VLB Doy B0b?

Options:
Andhra Pradesh Pollution Control Board (APPCB)

| . ©osRds For S 5ot &5°6 (APPCB)



Andhra Pradesh Mineral Development Corporation (APMDC)
7 % e5052BT QOGS EHVDDV0E) 50 TR0 (APMDC)

Andhra Pradesh Environment Management Corporation { APEMC)
3 v e0GNOT DTV 085 DDF) 065 52F B0 (APEMC)

Environment Protection Training and Research Institute (EPTRI)

DT 085 PBED BI0A e0s 8206+ @aderes (EPTRI)
4w 0T ) RO

Question Number : 95 Question Id : 71644795 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following findings in analysis of river water indicates mixing of human faeces?

DO D DFNES’D 300 HITrOS” DO HPHD VB DFVo SOOI AFDOS?

Options:
Higher count of total coliform bacteria

1 » 20 Edaro er003° G308, AS Doy

Higher biochemical oxygen demand (BOD)

I % e9fdE B0 0D esdyad ool (BOD)

Higher pH value
3 x 0S8 pH Devsd

Lower dissolved oxygen (DO)
G016 &S e93y2d (DO)

Question Number : 96 Question Id : 71644796 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In December 2019, the officials of the Agriculture Department suggested to Kakinada farmers that they stop cultivating
variety of paddy as it is now being cultivated in Kerala. The state used to earlier buy this rice from Andhra

Pradesh. but the demand for it has plummeted.

2019 &2082665°, @y B0¥ES” Frrdadanady g0 DB Dototitio DFDATTLD DIDIFOD T AT EDED
SPERE DEVOL RIP0TEM. QoSEHAWED € TR0 < DOIT(DY BoPGNEBT Aok Fofen S0, 500 o°d &dro&

Se3ood.
Options:
Chitti Mutvalu

1. = {Ijg?j} DTV

Krishna Hamsa
7 % OB SO

Keshava
3 % 30

Bondalu
4] « eSoren

Question Number : 97 Question Id : 71644797 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Name the project whose site in Chittoor district *Mandaram Resource Centre’ (MRC) includes a demonstration centre
for alternative agriculture and sustainability practices and the volunteers work with local people and farmers. address
local sustainability issues with solutions tailored to local conditions.

DBPD 2GS ‘ot 86y oexd’ (MRC) &°, pewegar) om Hydraio S0805n RDROO DEBOO B0
DE0) Sogo £8A ol BT TN Qvag Haen Bt faved 590 guzjg DORBOOLD ed0DEROTT ,gv:)g
RORES DEVRIODD DOLY,B00E=IS DD FED DO BevDod:

Options:
Kalyanam
1. = §w6mo
Rakshana

2. % OLee



Toranam

3« 0o

Parvavarana

A % ?DD‘_El&f}tﬁE'aG

Question Number : 98 Question Id : 71644798 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which port in Andhra Pradesh received the *Golden Peacock Environment Management Award’ in the year 2015 for its

initiatives and achievements in the field of environment?

DO§O0E Golods” SR STEjEaTen daty Daaire Edo e30gHBss D ) Lada) 2015 Dodeydoss” WO ozeE

Qbswémoﬁ B m0oth @a‘gj 30005067

Options:
Gangavaram Port

1. = tofidO0 EtB:d)

Machilipatnam Port

2« mﬂ}&:«amlo £,C:B5)

Nakkapali Port
7 « aﬁsbﬁvﬁ) £t Ba)

Krishnapatnam Port
A o SEP)0 LB

Question Number : 99 Question Id : 71644799 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
What is the name of the reserve in Andhra Pradesh that is part of the ‘Project Elephant’ scheme? It is shared by the state

and the centre.

S IS DELS” PR oEHBIS’D Bab] DWH IH? HID T°F0. F0G0 DOLLEICETOD.

Options:



Rayala Elephant Reserve
1 v Trow Do) B2a0]

Nilambur Elephant Reserve
I« Deroed IDoeS by

Anamalai Elephant Reserve

3 % €908 D0k B220Q

Anamudi Elephant Reserve

1 % eaHSAE D08 &aﬁs

Question Number : 100 Question Id : 716447100 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Andhra Pradesh Reorganisation Act, 2014 is an Act of Indian Parliament that bifurcated the state of Andhra
Pradesh into Telangana and the residuary Andhra Pradesh state. What is this act popularly known as?

R30LI00T U"Q“:};‘l BOOTPENT DO0IL 9553 BoGDNAT TOTT D200l BSoSRRT ?@acﬁséaj%gsasa wéo, 2014 D6
ZPOS IR0 S50, S SEPDY DAVPOTT QE® DEDFED?

Options:
Andhra Pradesh Act

1. « e50300% <o

Telangana Act

R OTTES IO

Hyderabad Act
3 % FCTRETFO 5o

State Separation Act

TPa]| slEdahed b0
E (N



Question Number : 101 Question Id : 716447101 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As per the Andhra Pradesh Reorganisation Act, 2014, became the capital of the newly formed state of

Telangana, after the bifurcation of Andhra Pradesh. The city will remain as the joint capital of both states for a period of

time not exceeding ten years.

ZLTAT AL @éﬁséﬁ?ggﬁsa 380, 2014 Hsdo, er0gHBT DY), DD BHOTS, TG JOVED Beorres U"%“:}é
TR Ar006. ¢ Hido DATL Dot SRS Gotd D"QPD &m&d TPRTEOTT &0t00).

Options:
Amaravati

1. & esavorod

Hyderabad
7 ¢ TOTEPO

Visakhapatnam

3' @ D?;;Jf.:re.}io

Vijayawada

4 = Deohard

Question Number : 102 Question Id : 716447102 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 WrongMarks: 0.33

Which of the following political parties was founded by actor and politician Pawan Kalyan and came up around the

period closer to when the state of Andhra Pradesh got bifurcated?
& 300 TraS0h PO DO, BoGHDT TR0 DRI 001" SBOID HEVE), T°RSAD TADLED DO

SV"{,’E‘E 36h gufbot:}m&.o&?

Options:
Jana Sena Party

1 v i e b cﬂﬂg

Telugu Desam Party
9y DD BI0 o o)



YSR Congress Party

3 % D0REs6 500 P

Telangana Rashtra Samithi

SEIOTTES U“EEE"J; wdedded

4 =

Question Number : 103 Question Id : 716447103 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

For which of the following projects in Andhra Pradesh did the Telangana government approach the Supreme Court to

put the work on hold and appealed to first review the environmental impact assessment (EIA) of the project?

& 808 505NBT TEHOS’, BT Beorre DA 70208 MR 3300000, €3 DD DDDDLH Sd3L FES
=] 23 22

0T0E), DO DG Herad ot (EIA) 20 20t dddomrod Dps 30d.

Options:
National Seafront Project

1 x D035 Dot FaS

Construction of new capital Amaravati

2 g0 rarrd eduead D00

Indira Sagar Polavaram Irrigation project

3 g 06T 16 TFonco ADIFDE0 FBDH

Andhra Pradesh Housing Project
4 = 50GNDT 00 FTES

Question Number : 104 Question Id : 716447104 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

After the bifurcation of Andhra Pradesh, the political regimes of Telangana and Andhra Pradesh fought tooth and nail
for the monopoly of which of the following rivers?

FOGDBT 00V, DTRTDoB0, BOOTFEs DOOID L5oFHAT Tra801 DIDTED & F0d HEV DG ISFEV[0
Eoeocierend” o ey argred’ e Poreron?

Options:



Cauvery and Krishna

1« SO0 000 &

Krishna and Godavari
9 o SHF AW SfmpFele!

Godavari and Cauvery

3 % Borod andoiv 570

Cauvery and Tungabhadra

] x Sob Soboatn dooride

Question Number : 105 Question Id : 716447105 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Quoting the issue of revenue deficit after the bifurcation of Andhra Pradesh, what major demand did the then Chief

Minister Chandrababu Naidu place before the Government of India?
e30nRT Diad BDard esral) &5 POV €205, D Awajarod Soere oI aPGE PELEA0
DVOCD D PP AaFE DEPD?

Options:
To declare President's rule in the state of Andhra Pradesh

eF000 U“?Qoeﬁ'ﬁ Te3)0es FPODRD DEBotEo

2. %

To permanently keep Hyderabad as the common capital for both the states of Andhra Pradesh as well as Telangana

TOETEPERD 0gNBT & Jren B0t TogPD3 ST FPLEOR TR T3HOTP €050

To grant special category status to the state of Andhra Pradesh

3 €30G58 TalI3 A(E 3006 For aaco



To reverse the decision and combine the states of Andhra Pradesh and Telangana again

telent 24 e‘i&ﬁ}gﬁ’ggmﬂ:}é S0B0ID eSoGNGT SOOI BRIOTTER w@vum mvg SO003

4, =

Question Number : 106 Question Id : 716447106 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Hyderabad had become a bone of contention during the bifurcation of the states of Andhra Pradesh and Telangana. What
was the major reason for this?

€50G5RIET SOBOIL BRIOTTER ToPe) DESessd Va0’ FPETEPS DTG Sr8od. HIS VIS 5200 IDH?

Options:
The majority of power generation of the undivided state happened in Hyderabad alone

1 « IDBE T DEYD ESNDS” I 3 2o TETEPSS D 2070d

The majority of the state income to the tune of 70% was concentrated in Hyderabad alone

o) e9E00e)” DL P 70% 3raTrerdSd 5085020 60d

Hyderabad always got the major share of the water of Krishna and Godavari rivers

3 % Sihel Forad Hcoe DS JraurerdL JNET DL ePrio LD0H

4, =

The Telugu speaking population percentage-wise was concentrated more in Hyderabad and its immediate proximity only

BenrDd JPEPE BT TB0 DOOTT TP’ HLBOID T DA PBTVS” TSI I8 O SoHSHBRO od.

Question Number : 107 Question Id : 716447107 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Four years after bifurcation, the residual state of Andhra Pradesh announced its state symbols and adopted as

the state flower.
DO D DOICNT BHDH, DI LS0GNBT TR0 G TPg) Wf) £ HSodod audasn 0
U“@ DyorT ?05§aoaoa:.

Options:
Lily

1. = '3@



Jasmine

2. v 9

Lotus
3w g2000

Tangidi Puvvu

4' ® ehofic E}_‘}@S

Question Number : 108 Question Id : 716447108 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
During his regime. Chandrababu Naidu, the first CM of the residual state of Andhra Pradesh, held a week-long

programme or a pledge to rebuild a new state all over the state, where he made people take a vow to build a new and
developed Andhra Pradesh. What was the name of the programme?

92 rodes, esoGnBT Gv.;;x".i'}é 2066 Do (maaémo@) £900R) BI0GETEN TPOINED), TFOOEF 2.8 SPOE00 T
TR0 G 0ol 00 8L omred) RO DOGToTMm, ©98) ¢ pRod QPG Sd0ID CIARNARRLIATY
e50E0B% FOLH DAR B5000SHTT) M. & SE[ED00 DO IDH?

Options:
Swachhata Hi Seva

. 9 5
1' " n]Sr:J[hE“ oJ” eJad”

Abhivruddhi Karyvakaram
7 % E_ﬂif)aj;,gh Sﬂdﬁga}{:

Purogati Abhiyaan

3 % OO eDoira

Nava Nirmana Deeksha

4 v D D79 HE

Question Number : 109 Question Id : 716447109 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



is one of the key initiatives undertaken by the residual state of Andhra Pradesh which is believed to attract
investment of close to S17 billion. and will create 20,000 jobs.

5 17 DYoL DO 38806 sudain 20,000 e&p‘:um 22006 DICV0AD DN BoGHBT THO
DORR S0 ?6556:13“9_3@6 =10

Options:
Construction of Amaravati as State Capital

EDeTPae der) Uﬂﬁg T AT e T bﬁémﬁ{io

Vizag-Chennai Industrial Corridor

8
DeFPO-TDY @Dﬂﬁﬂmﬁ 5000

Indira Sagar Polavaram Irrigation project

7 x ROT Fi6 Feoodo IGO0 FBLH

Andhra Pradesh Housing Project
1 % S0GNDT 00 FES

Question Number : 110 Question Id : 716447110 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Name the person who succeeded Narasimhan as the Governor of the residual state of Andhra Pradesh after the
bifurcation.

ROV BETS DT, BoGNAT U7F) (100) 6T &) H(S:

Options:
Chandrababu Waidu

1. % <SOGERED TPOIE

Y'S Jagan Mohan

7 x DO ACD D

Biswa Bhushan Harichandan

3 v i)ﬁ)ﬁ{jﬁ“&l&ﬁ PB0C



K Chandra Sekhar Rao
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Sub-Section Id: 7164478
Question Shuffling Allowed : Yes

Question Number : 111 Question Id ; 716447111 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text :

Correct Marks: 1 Wrong Marks: 0.33
Which of the given diagrams correctly represents the relationship between the given classes?

Juice, Apple Juice, Fruit Juice

QOO DD Degreres” D& QNG BOASBOL QD] DoLIOTTDY VBT ATD0A?

e&r?gﬁ), eg20€ HJ'ZS;—J, 27065 Ea"éﬁ

Options:

13
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DS @@

4 %

Question Number : 112 Question Id : 716447112 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

If every 3™ Jetter from left to right of the English alphabet is deleted, then what would be the 10t Jetter from right in the

new series obtained?

esof D0AreeS” D Mol HES DA 35 egoo FooSwdd, TFobd Fa 338" HE od 100 500 DDB?

Options:
M

1.+ M

|ﬁ

K
4 = K

Question Number : 113 Question Id : 716447113 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
Four words have been given out of which three are alike in some manner. while the fourth one is different. Choose out

the odd one.

RQEINGD O DTS S0 JE 2.8 GSoTr 2B GotPow, ST reiadd DI ot E0t0d. DI o &Y TTID

JocuFol.
Options:
Yemen
1. & coawe
China
7w B
Egypt
3 " Saeda
Dirham
4 W E:ngo

Question Number : 114 Question 1d : 716447114 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given pattern carefully and select the number that can replace the question mark (?) in it.

33 | 116
44 104

68 | 80

AN S DIBOTT 9E5H0D0 B 05D =) g%0 (?) D 238 S0 Do JocE ol

32 116
104

92
80

Options:

1.+~ 56

S0

78
4 = 78

Question Number : 115 Question Id : 716447115 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Read the given statement and conclusions carefully and decide which of the conclusions logically follow(s) from the

statement.

Statement:
Though Michael does not like to recite poems, he recited “The Ancient Mariner’ at our office party last night.

Conclusion:
I.. Michael is a shy person.

IL. *The Ancient Mariner’ is a poem.

AN DEOD BN DATEHORD FPHBTT SED0C BOID PELD Aol ) PDAJPGHD T°8) SorT VBIaIr
:}gomaoé.

PELH:

DHSD £ SGHEo Ao TEIHDYDS, D) TR & B FHS° D DY00s WHAG ) IOTE.
HAIEH:
. 208365 2.8 203d.

II. & DDoDots DPDE DD s 5D

Options:
Only conclusion I follows

1. % 2RTFGD | D@0 9008000

Only conclusion IT follows

7 ¢ TG |l Srgo 800

Both conclusions I and IT follow

3 % DATFGDen | 080w Il Bocd e9:dDd8IP00

Weither conclusion I nor IT follows

A % 2ATFCIW | T 11 DG 080D

Question Number : 116 Question Id : 716447116 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In a certain language, the code for ‘DUST’ is “@ % A S’, the code for “TOLD" is *# (@ S B" and the code for *SAR’ is ‘%0 * F".

What will be the code for ‘DART?

28 Q655@é eraed, ‘DUST cﬁ:ugb '@ LAY, TOLD O?"Dsb & # @ % B s0doiw SAR’ cﬁmsb g& % «F.
0920 ‘DART 308, FE davaniiood?

Options:
*F@s$s

1l v *F@S$

%o @ * %

2 x LZ@=*5

BF#%

3 %« BF# X

@*SB

4, « @=$B

Question Number : 117 Question Id : 716447117 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the number that will come next in the given series.

702, 350, 174, 86, 42,7

QN 235" LD S IAVINRSLEMN NS JdocnEod.

702, 350, 174, 86, 42, 7
Options:



17

3 = 17
20
4, v 20

Question Number : 118 Question Id : 716447118 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33
The given pie chart shows the percentage distribution of the expenditure incurred in manufacturing power banks. Study

the pie chart and answer the following question.

odsanei .

o Divée

g

TmpEn

If 8,000 power banks are manufactured and their direct labor cost amounts to $10,000, then what should be the selling
price of each power bank so that the manufacturer can earn a profit of 20%?
QDD D TG DHG ERJODHOD DM B DoEI FTEED) D@D, P TE'R ee[oDdo 5D Sod PI) D

DEATTT0 ra.;jsoci.

8,000 D6 erfoien Saird dabed., o) PafL s°0L8 ojao $ 10,000 e90083, es0irdmra 207 erdso

Toosridrier D DO erfos i), V5 G0 Jod &or=d?

Options:
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Question Number : 119 Question Id : 716447119 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given bar graph shows the total number of different types of vacuum pumps P. Q, R, S and T (in lakh) imported by

a company in 2015 and 2016. Study the graph carefully and answer the following question.

i
L
P

30
28.5 T

w
=]

P

5

NO OF UNITS IMPORTED | IN LAKHS)
Pk
W =1

P 8] R 5
TYPES OF VACUUM PUMP

B2015 D2016

26

EJG

Which of the following types of vacuum pumps imported from 2015 to 2016 has the second maximum percentage

change (increase or decrease)?

r‘ar.‘.')ag{r er6 e 2015 s0boin 2016 &° 28 :bo‘é}} Araaoad Ef:‘éne‘o.ﬁl D oo EI“QJ"?S;D moanen P, Q, R, 5 sodoin
T © 20080 ofN(OES") DFDRE. PO 2RFOTF BE[oN0 B 0 2 £ DATFTDo QC.

PR 3

3 30 2 s ;‘”’t

3 o

F 25 —pen

&

g‘ 70

3

§
a‘ﬂ“]_&}ﬁoq}um
832015 D206

2015 &ooc 2016 H6L HADS BADH) TEPFD Do 30d TS DB Bocisd (10 20y TS0 (DAY

g e:agma}m EDh 2ohH?

Options:
P

1.+ P

7?2 = Q



Question Number : 120 Question Id : 716447120 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the given figures is different from the rest?

SN A

FIGURE 1 FIGURE 2 FIGUEE 3 FIGURE 4

QIR VFroS” DHDD oD D) o &) VYo IH?

| L

oo 1 o 2 oo 3 2o 4

Options:
Figure 1

1. W a@[}i

Figure 2
2 W% a@[} 2

Figure 3
3' v a@ﬂ 3

Figure 4
4' Y t:)@ﬂ' 4

Question Number : 121 Question Id : 716447121 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
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In the given table, the number of vacancies (in thousand numbers) of a certain post in three different states A, B and C

over the years 2015 to 2018 is shown. Study the table carefully and answer the following question.

Years 2015 | 2016 | 2017 | 2018

States
A 7 8 72 6.8
B 5.7 7 6.5 8
C 5.6 6.2 5 5.2

What is the average number of vacancies (In thousands) in state A in all the years together?

PN DOSS, 2015, 2018 D0e07eS" sred DOD Togrg A, B 20bain C o 2,8 205 g0 aing), arde

;i)o;p_s [E‘Jcm_; “‘n}oaj?sﬂeﬁ") SPDEIC00. DHE BRI @tﬁﬁ&béo &0, S0b DI D DATTTEN0 rai}soé.

Dodeyoren | 2015 | 2016 | 2017 | 2018

oeaPeD
&=

A 4 8 7.2 6.8

5.7 7 6.5 8
C 5.6 | 6.2 3 5.2

02 DoDdeor’ £8D oo A &° o e DD f0a) (D0ES°) doey?

Options:
5500
1. = 5500
7250
2. v 7250
7500
3 % 7500
6500
4. = 6500

Question Number : 122 Question Id : 716447122 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In the given table, production of oats (in tons) of three different states A, B, C over the years 2016 to 2019 is shown.

Years | 2016 | 2017 | 2018 | 2019
States
A < 4.2 5.3 4.8
B 5 5.4 4 5.6
C 7.1 5.3 7 8.6

What is the average production of oats (in tons) by state C in all the years together?

N DAL, 2016 ol 2019 DonenTre” A, B, C e9d 205¢) DB Togler 5y e (00 0e5°) ardentod.

"n}oéébmm 2016 | 2017 | 2018 | 2019
mgbw
A 3 4.2 53 48
B 5 54 4 5.6
C 7.1 5.3 7 8.6

09D 20N £DD TR0 C S Todd L5y 0308 i e @ (e:0) 06°) Joeh?

Options:
7 tons

1 v ?E.}siur;,bw

O tons

7 % ﬁe.}af:olm

5 tons

3 % 5&}&‘1}&@

4 tons

4 = 4&)@;1&13

Question Number : 123 Question 1d : 716447123 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



There are 20 passengers in a public bus. The given table shows the number of passengers in the public bus and their
corresponding weights.

No. of passengers 4 6 2 5 3

Weight (in kg) 800 | 650 | 750 | 780 | 720

What is the average weight of all the 20 passengers?

208 DD 370" 20 2000 DOTIFEILED ET7) M. ADYD DOS &5 DS eNG'D HOIFRISHO Vo) BATL T°08
20230000 LIMDNLD tIFR0A.

pairdoo vog| 4 |6 |2 |5 |3

s (kg&f) | 800 | 650| 750|780 720

Options:
707 kg

1 = 707 kg

733 kg

9 o 733 kg

750 kg
3 % 750kg

720 kg

4 » T20kg

Question Number : 124 Question Id : 716447124 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In the given table, the production of oranges (in tons) of three different states X, Y and Z over the years 2016 to 2019 is

shown.
Years 2016 | 2017 | 2018 | 2019
States
X 30 42 53 48
Y 50 54 40 56
Z 35 43 50 56

What is the difference between the total production of oranges (in tons) of all the three states X, Y and Z together in

2017 and in 2019, respectively?

QDD DHES®, 2016 Aol 2019 DS S0 DB ToePTD X, Y addoin Z aing), 77802 e:dd(exn) o)

EADLIOTA e A

oddworen | 2016 | 2017 | 2018 | 2019

ovaren
&

X 30 42 53 48

50 54 40 56
35 43 50 56

SR 2017 @n8osn 2019 &° X, Y andoin Z e Hured Trgho dgo 8oz ety (d0) o) &° Hiamido

SJOEs?

Options:
21 tons

1 v 21 EJE-.'J_'J:LE‘_D

45 tons

2 45 mmﬁlw

36 tons

3 x 36 mmlm

48 tons

4 = 48 EJ:JJD\L&D

Question Number : 125 Question Id : 716447125 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
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The given table shows the classification of 100 students based on the marks obtained by them in Mathematics and

English in an examination. Study the table and answer the following question.

Tarks out of 50 | 40 and | 30 and 20and | 0 and
above | above above above

Subject
Mathematics 10 34 70 75
English 15 42 73 80

What is the difference between the number of students who passed with 30 as cut-off marks in Mathematics and those

who passed with 20 as cut-off marks in English?

2Dy DYE 100 d0od DEFgRD @8 0055 DYERrOSy DB 2008 &° Foddd Do), 0 STTOOTE é?édeac‘m
EPDE08. DS 96[0ID00 e, SoH 28 53 VALFED0 WDOC.

50 306 0% | 40 208asn | 30 Sodako | 20 Jodakd | 0 Bodotd
2ODH 2 T FAL 2
Boges Sy 10 34 70 75
205 15 42 75 80

DPYEIOSy & SSerd Drrd) e 30 & eBHTND Drryde Do, offned” §Sesd ardyenrr 20 & eI

= Jn)oajéﬂ_'} 63_5@“_5:\}0 JoEs?

Options:
8
1. = 8
33
? % 33
46
3 % 46
41
4 v 4
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In the given table, the number of vacancies (in thousand numbers) of a certain post in three different states A, B and C

over the years 2015 to 2018 is shown. Study the table and answer the following question.

Years | 2015|2016 | 2017 | 2018
States

A 5.6 7.8 6.2 7

B 5.8 6.2 5 5.2

C 6.4 6.2 5.8 5.6

What is the average number of vacancies of the post in state B in all the years together?

RN DOSS, 2015, 2018 DoeyTres” anred DO Trgren A, B 000t C 06° 2.8 2937 Do axog), arde

0207 (0000 Roates A DEC06. eaCH0I0AI0 WD, SO &) PATEFRA0 Qe 0.
oy ( { = 5?.‘)") DEIC0E. DHERD oD B, Sobd PBY D R ) Coc

Doddyoren | 2015 | 2016 | 2017 | 2018
mgum
A 56 | 7.8 | 6.2 4
5.8 6.2 5 5.2
C 6.4 6.2 5.8 5.6

ey }boi»e:ﬁbﬁ"gf §8 o0 B &° QY o0 riew 035 Jogh?

Options:

LN
L
_h
=

1. ¥ 5550

7050
7 % 7050

1200
3. % 1200

6000
4. % 6000

Question Number : 127 Question Id : 716447127 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
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In the given table the production of semolina (in tons) of three different states A, B and C over the years 2015 to 2018 is

shown. Study the table and answer the following question.

ears | 2015 | 2016 | 2017 | 2018
States
A §] 8.35 |63 7
B 6.4 6.2 6 2
C 6.4 6 T2 5.6

What is the approximate percentage increase in the production of semolina in state A in the year 2018 in comparison

with 20157

)N DOES® 2015 2voct 2018 Dodeored® A, B cndain C e9d dnred DD Trgre) 20D (0:)

B (0a0) 0e°) ardeCod. DO AN BN, 0d DY D DATTHO QDL

K)oaﬁé;.’ﬁc 2015|2016 | 2017 | 2018
mgm
A 6 8.35 [ 6.3 s
6.4 6.2 6 5.2
C 6.4 6 7.2 5.6

2015 & ﬁ"ﬁ:ba 2018 ‘cbocbe‘_ér)doeﬁé oo A &° 22D (0 &@:}@é& DAL TR0 F0ATENT Joh?

Options:

16.6%
1. v 16.6%

Question Number : 128 Question Id : 716447128 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
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The given table shows the number of unemployed people who applied for a job in five different companies A, B, C, D
and E and those who were selected. Study the table carefully and answer the following question.

Company | Applied | Selected
A 1000 800

B 1200 950

C 1500 1250

D 1100 000

E 900 650

In which of the following companies was there a maximum percentage of selection?

AN DBS A, B, C, D 0805w E 09D o DD Sondwds” efffro Eno G0ard SRy i e Doy

SOOI JoTH T8 Do) BIFDR0G. DRI FHSTT E[EDD0 I, 06 DI S VATV WHOE.

Zod B850 JoHBH e
.'38:35:65}’;:‘@

A 1000 800

B 1200 950

C 1500 1250

D 1100 900

E 900 650

8o Conderws® Baes’ (105 dows TS0 RN AY

Options:

1. B

Question Number : 129 Question Id : 716447129 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The following table shows the expenditure of a company (in Lakh) Per year over the given years.

Years Items of expenditure
Salary | Fuel and | Interest | Taxes | Bonus
transport | on
loans

2014 | 315 95 3.2 25 48
2015 | 380 100 3 28.5 50
2016 | 410 110 25 32 40
2017 | 370 102 3.9 30 46
2018 | 400 130 4.2 28 52
2019 | 450 142 4.4 34 34

The total expenditure on all these items in 2016 was approximately what per cent of the total expenditure in 20187

S0l DS %"I};l moaabme;& 233 '@Oﬂéjbﬂ“ﬁé 2.8 }boe’\m} EelferL o) (02e65°) armsneaod.

ﬁaéﬁ:m aswsmw
ddo | frgad Omeod | ey | 885
2B s
dare
2014 315 95 3.2 25 48
2015 380 100 3 28.5 50
2016 410 110 2.5 32 40
2017 370 102 3.9 30 46
2018 400 130 4.2 28 52
2019 450 142 4.4 34 54

2016 &° & DO 02 Doougo Hoo 2018 S°D Ango Do Jodd TBo?

Options:
78.3%

1. &« 78.3%

96.8%

3 o 96.8%
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Question Number : 130 Question Id : 716447130 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given table carefully and answer the following question.

Number of students who appeared for a railway exam from five different states of India.

States | AP | U.P | MLP Punjab | Kerala
Years
2012 410 | 300| 250 280 440
2013 500|400 | 280 320 400
2014 450 [ 450 | 240 260 350
2015 320|500 | 400 400 380
2016 500 | 430 | 540 350 420

What is the ratio of the total number of students who appeared for the railway exam in 2013 and 2014 together from A P

to the total number of students who appeared in 2013 and 2014 together in Kerala?

rz}cf)ba’) a’)eggm FOGTT a0 e, Sof 23 £ VATD0 f;.!&fasod.

ZPOBEE0S"D DAL DY T7gFe Aol BY DOLLH DF23D DETIEO oD DDLEIEDE.

u'gum 2.d | ciwd | abe.d | Doard | Sovw
:buéé)mm
2012 410 | 300 | 250 | 280 | 440
2013 500|400 | 280 | 320 |400
2014 450|450 | 240 | 260 350
2015 320|500 |400 | 400 380
2016 500|430 |540 350 420

2013 s08adpn 2014 “n:no.;:)e:éboﬂega £ AP 2nod 0Tq DOELH DFRTH dwedo TR oIS, 2013 s08ojn 2014
&5° &0 Bowes® HFBH o DErghHer Do (0 D Joy?

Options:
12z 13

1. % 12:13

19: 15
7 » 19:15



Question Number : 131 Question Id : 716447131 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given line graph represents the population (in millions) of ‘Inhambane” in each year from 2013 to 2018.

Population in million

2013 2014 2015 2016 2017 2ms
Year

What is the approximate percentage increase in the population of Inhambane from 2013 to 2016?

QADND OB D 2013 o0& 2018 6D DB DoDSYB0 ‘WD’ AIE), AT (DDADHES®) LIPS

s Dolabgd'

2013 oo 2016 HOLD QzroBd 2eTrered” DG TH0 MDA Joeh?



Options:
100%

1. =« 100%

61.5%
7 o 61.5%

86.6%
3. =& 86.6%

90.5%
4, = 90.5%
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The given bar graph shows the total number of different types of electrical components A, B, C, D and E (in thousands)
sold by a company in 2015 and 2016. Study the graph carefully and answer the following question.

LSS LSIA A 20

L:!8

TYPES OF ELECTRICAL COMPOMENTS

NO OF UNITS SOLD { IN THOUSAND)

@016 T2015

The number of type A electrical components sold in 2016 was approximately how much percentage of type C electrical

components sold in the same vear?

AN &6 Trd 2015 andosn 2016 5" a8 208 DEOODD DDE 05T JOFES seoa)R0tw A, B, C, D andoin E
00 (Do’ Aroed. PO FIST RC3[0ND0 B Fod DI O HAFTRSH0 QDYoL

Dgoneda clar My Roxy (Sud')
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Fa07

Options:
121.5%

1. «» 121.5%



150%
2. % 150%

161.5%
3. % 1601.5%

200%
4, = 200%
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The given line graph shows the number of smartphones manufactured by two different companies X and Y from 2014 to
2019. Study the graph and answer the following question.
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For all the given years in the figure, how many smartphones were manufactured in total by both the companies?
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Options:



1403

1. v 1403
1836
2 % 1836
1000
3 % 1000
1286
4 % 1286

Question Number : 134 Question 1d : 716447134 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given pie chart shows the percentage distribution of 300 students from different part of the world, speaking
different languages. How many students speak French as one of their languages?

30%

Englizh & Spanizh

20%; [ English &

Himdi

18% 12%

RS D TG DD D DDG GProtre) o DD aFHeR arerd 300 svod DEFgo DODE FTEPD) EPDROB.

Do 2008 DTFFERD B0 PR’ EETT Dod DERETEMm?
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Options:
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Study the following bar chart carefully and answer the given question.

Number of Exercise bike sold (in thousands) by a
company frem the vear 2004 to 2019

2019 n‘n‘l"-'|‘s'|'-‘|‘u‘l‘-'n'-'l‘s‘!‘-'n'-'n‘ni 5
2008 L5 S NSNS NLS LR ] 50
n 2007 %Sttt e e e e Y 65
i
= 2016 s E . : : : >>>> : p : a : 38
2005 ep v n nie bbb ki | 42
A e 18
0 20 40 &0 80

Number of Exercise Bike (In thousands)

The number of Exercise bike sold in 2015 is approximately what percent of the number of exercise bike sold in 2019?

30b eP0 T O IO e9C3§ 00000 o903, fawi')aé 23 £ DIFTED0 @&‘)50(1.
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2015 &° HDE000DD IS \ByE Bow Do 2019 &° a1 LIED IEYTE BLO® Do’ TR ot FBo?

Options:
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1. = 60%
42%

? w 427
30%

3 % 30%
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Question Number : 136 Question Id : 716447136 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Studyv the given bar chart carefully and answer the following question.
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Number of hairdrvers (In ibowiand aumbers)

0
2013 2004 2015 2016 2017 2018

Years

Find the difference between the sales of hairdryers in the years 2013 and 2018.
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1. = 5000
1000
2.« 1000
500
3 % 500
50
4. = 50
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The given line graph shows the sales of massage machines from five different shops A, B, C, D and E in the years 2017
and 2018.

130

NUMBER OF SALES

A B L1 D i

SHOPS
s=f== 017 (1] 5

What are the total sales from the shops A, B and C together for both the vears?

DD G o 2017 andosn 2018 R008y0ee” oo DB coseeren A, B, C, D awdosn E &vol s0rd obomre)
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Options:
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9 % 500
480
3« 480
300
4. % 300

Question Number : 138 Question Id : 716447138 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Study the given circle graph carefully which shows the monthly budget of a middle class family and answer the

following question.

Entertainment,
48°

Fuel, 42¢

Education, 58°

If 2 15,000 was spent on food and rent during the month, then what was the total approximate amount speunt in that
month?

EVCIECE 5600800 GV, QDoard EXEERD CIF0L) TEC PO SPIETT 90300 R S0b DF) € DO TPDdo

@&350(1.

Qee5” e5:3800 2BE3L E X 15,000 2y B5Y, &5 D0S” DMy SO Do AT Jod?

Options:



Z 30,500

1 % 30,500

¥ 29,500

2 % 29,500

< 45,000

3 245,000

< 70,000

4. = 70,000

Question Number : 139 Question Id : 716447139 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given pie chart shows the number of people who work in various occupations (in terms of percentage) from a
certain state of India.

Teacher 9% Daoctor

128,

Enginee
3%

Criluers
1R8%

Manager
11%

As per the pie chart what is the approximate central angle formed by the Manager sector?

AN P TG 2PODF0e5°D) 28 DB TR Aol HDG neeed” (T80 DOOT) HDABD 0 Do) BFENBR.

635 9%
mg& 22%
onnd
0%
Roden
) 2ex

Sobas 1Y

D =g o dab D6 D0Y6ID Zog Erso AOHTENT Joed?

Options:
19.6°

1. = 19.6°
29.2°

? % 29.2°
39.6°

3. ¢ 39.6°



It
L
=]

4. = 25°

Question Number : 140 Question Id : 716447140 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given bar graph shows the profit made by company X (in million S) from 2010 to 2014,

Profit made by company "'
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The profit made by the company in 2010 was approximately how many times that in 20127

Q)N e D 2010 Qoo 2014 H0%H Eown) X D ereres (Q0Dond § &%) drspevod.
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Options:



1.6

Question Number : 141 Question 1d : 716447141 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the standard deviation of a data set if the data set has a variance of 0.817

Grod DA0BS 0.81 DN &Y NED € GTros DING S APATERE D3OH0 Joeh?

Options:
0.2

1. = 0.2

0.41
7 % 0.41

0.9
3.+« 09

o
4 = 9

Question Number : 142 Question Id : 716447142 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



What is the mode of the given data?

12,15, 18,12, 13,14, 15,12, 18,17, 17,17, 12, 18, 15
QNS GTP0TO GIVE), EPTVTES DD ?

12,15, 18, 12,13, 14: 15,12, 18, 14, 17,47, 12,18, 15
Options:
18

1. = 18

Question Number : 143 Question Id : 716447143 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given table shows the number of people in an aircraft with their weight.

Weight of the people 35 60 | 75 20 83 65
Number of people 10 12 8 6 4 10

What is the mean weight of the people in the aircraft?

RN DS, DATH0” €Y DV VoL T8 LIDPT DD SFEDBVD.

S0 DD 55 60 75 20 85 b5

;ﬁﬁ__sau a’.:uoa;'s 10 12 8 6 4 10

DATH0S” DIV VT8 LD Joes?

Options:



Ln
L]

Ln
Lh
LN

b2
®
L
%y
Sy

59.6
3. ¢ 59.6

61

Question Number : 144 Question 1d : 716447144 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following options will be the median of the given set of numbers?
14, 8, 28, 16, 5, 14, 20, 35, 21, 32

& 805 338)(33?&}&5’5. QNS DowfR B3 010G, Dofido DA e NE0H?

14, 8, 28, 16, 5, 14, 20, 35, 21, 32

Options:
11



18
4 & 18

Question Number : 145 Question Id : 716447145 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following options will be the variance of the given data?
202, 204, 206, 208, 210
QNS DONTOS, AN STFoF0 0TV, DYD IO DBI0H?

2027, 204, 206, 208, 210
Options:

I

3
4 v 8

Question Number : 146 Question Id : 716447146 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is true about Percentile, Quartile and Median?

DOyoBeS(3Tros0), ?gﬁ{amgogo] 00D E[IB0 (1B Sod TreeT” DO Dao?

Options:
P50 > Q2 > Median

P50 > Q2 > 206190



P50 = Q2 > Median

7« P50 = Q2 > 0G0

P50 < Q2 < Median
7« P50 < Q2 < SVlal{slly
P50 = Q2 = Median

A v P50 = Q2 = S0 1E90

Question Number : 147 Question Id : 716447147 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given line graph and answer the following question.

India’s fuel import

0o
450 450
450
” 380
350 K
i) :"l-‘I = -35{)
¥ 360 "te, -
= S0 = w®
_: +‘jll-|-!++|-lll-|["
£ 6 280 280
E
8 200
o
150
100
2015 2016 2007 018
Years
i ' | LB Y CECHE wo gl o e Cuantny in hundred tanks

In which year was the expenditure on importing fuel per hundred tanks the minimum?

PN T PO G000 B3R, $00 D) LD VATFTED0 QDE.

wododm s, :.w;'cmé Scbaod

AR/ Dud

2016 017 2018

R:-a..‘_\-%mw

—— Dtnd Hed’ sadilen mmamu-zumﬂ'

DD D00 EPFOLDOVL PPFoeS ADHDAD DO ) VoIS TS EINOTF €0H?

Options:
2015

1. = 2015



2016
7 % 2016

2017
3 % 2017

2018
4, v 2018

Question Number : 148 Question Id : 716447148 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given line graph carefully and answer the following question.

Number of publications printed (in lakh) by a prinfing
company from the year 2002 10 2017

it

& -
&0 & o0

* a5
40 &% a0

Number of publications printed

2001 2012 2003 2014 2015 2006 201 2018
Years

Find the difference between the number of publications printed in the yvears 2013 and 2015.
QN TR TP SPEOTT G000 D, S08 P L VAFTFI0 QDE.

2012 Aol 2017 30% 2% Hotel L1 JGedd Pudee Doy

& 6
&0
N 1] ‘r &0
5 ® 5
3 5 & 0
*
40 ‘ 40}
*
.%
20
10
i
2011 2012 2013 2014 2015 J016 2017 2018
rooaoam.u

2013 s206cdwn 2015 ‘Jaoaejbmﬂef 080D PO VoL G (0 aéﬁnéﬂﬂbl S0 H0d.

Options:
20 lakhs

1 =& 20080



5 lakhs

? « DHeogen

10 lakhs

3. % 10ovse»

15 lakhs

4. = 15 ogen

Question Number : 149 Question Id : 716447149 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given circle graph carefully which shows the expenditure of a private hostel owned by a certain public school
on various areas during a particular year.

Entertainment
390

Exira expenditure,

Electricity,
42%

Security, 55

Foaod 547

AMainienance
charge, 58

If the total expenditure of the hostel during the year was Z40 lakhs, then what was the approximate amount spent on
electricity and food together?

208 DL VOO0 DD Frorrep .8 DBL DEDS SFET0 eI’ D DDE DFRES GI0Y), DO
TD08 TS0 PR SPOTT 6300 totoc:.

Q00005 55 Ao Hy T 40 ogen e900d, DEB 0BAIL es3860 Do EBD iy BRD DB JPEHTT
0Es?



Options:
T 20.7 lakhs

1. & T20.7 vgew

¥ 40.5 lakhs

7 % 7405 ogen

7 10.6 lakhs

3 v 710.6 ogen

7 18 lakhs

4w 218 vgen

Question Number : 150 Question Id : 716447150 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the graph of the production of the devices produced by three different companies X, Y and Z over the years and

answer the following question.

Production of devicess (in Lakh numbers ) by three
companies of XY and L overthe vears

TR R TO TR DATTR LNy s
2017 45

] 40

ﬂIIII[]]]I]IﬂIﬂHIlI]]]]mm—I
2016 25

1 35

40
2015 45
50
TR T TRV ERTT U AR TA ey so
2014 45

1 40

2013 35

Years

(I I so

2012 30

] a5

Q 20 a0 60
Quantity in Lakhs

m? ay Bx

What is the difference between the production of Y devices in 2016 and Z devices in 20127

X. Y s0boin Z 9D 00l DO ?ao}é:or;ﬁ GOND DODRICRD DOET"V &BNBS DoeXeHoDR PO E{adao 30, S
405 03 LD VATTEDo ﬂa}bgo&.

) RodGyorenm XY, Sobain Z

Sobled DesTe 80\ (Vi Ronyud')
2017 a5
i 40
30
2016 -
= 4 35

g" +ore IITIITIITTTTIITAITICTITNN <o

{ 40
(I s
2013 35
4 55
2012 30
45
0 20 0 60
A0 vILS'

o:? (=} ax

2016 &° Y DB5Tr0 5488, 2012 &° Z DBET0 03] 688 SfEwido Jos?

Options:



10,00,000
1. » 10.00,000

10,50,000
2 % 10,50,000

1,45,000
3« 145000

2,00,000
4. % 2,00,000



